Attitude Tineli

ne

ORBI TER
MET/ GMI' M\VR OPTI ON DAP E/ S/ B |REF ATT/ REMARKS EVENT
56 GN\D TRACK RATE 0.2000|LVLH R=212.17 |-ZTDRS
003/21:38:00 M{TGT =3 P = 90.00 |DB AT 1.000 P= 54.32 |[LPT: TDRS Comm
42: 41 BYy =3 Y= 0.00 |DB RT 0.020 Y= 18. 00 |TDRW 21: 45-22: 37
oM = 201. 00
020/ 13:17: 00 G LAT = 0. OOON
21:41 M\VR B9/ AUTQO VERN LON = -174. 000W
HOLD (sane) B=-58 ALT = 19323. 0nm
57 I NRTL TRACK RATE 0. 20001 NRTL R=242.90 |[-ZSI
003/22:10: 00 M|TGT =5 P = 90.00 [DB AT 1.000 P= 84.59 |SOLCON
22: 21 BYy =3 Y= 0.00 |DB RT 0.020 Y= 26.09 |22:23 - 23:14
OM = 299. 00 SPACE 21:50-22: 20
020/ 13:49: 00 G SUN R 0 SPACE 23: 26-23: 50
14:01: 21 M\VR B9/ AUTQO VERN P 90| RA= 301.530
HOLD A10/ AUTQ VERN =-58 DEC= -20.290S
58 G\D TRACK RATE 0.2000|LVLH R=203.01 |[-ZTDRS
003/ 23:14: 00 M{TGT =3 P = 90.00 |DB AT 1.000 P= 74.47 |LPT: TDRS Comm
24: 26 BY =3 Y= 0.00 |[DB RT 0.020 Y= 32.80 |TDRW 23:21-00: 12
OM = 215. 00
020/ 14:53: 00 G LAT = 0. OOON
15: 03: 26 M\VR B9/ AUTQO VERN LON = -174. 000W
HOLD (sane) B=-58 ALT = 19323. 0nm
59 I NRTL TRACK RATE 0. 20001 NRTL R=245.34 |-ZSI
003/23:42: 00 M[TGT =5 P = 90.00 [DB AT 1.000 P= 79.11 |SOLCON
52: 26 BYy =3 Y= 0.00 |DB RT 0.020 Y= 28.46 |23:53 - 00:44
OM = 305. 00 SPACE 23: 26-23: 50
020/ 15:21: 00 G SUN R 0 SPACE 00:47-01: 13
31: 26 M\VR B9/ AUTQO VERN P 90| RA= 301.600
HOLD A10/ AUTQ VERN B=-58 DEC= -20.270S
60 G\D TRACK RATE 0.2000|LVLH R=315.72 |-ZTDRS
004/ 00: 44: 00 M|TGT =3 P = 90.00 |DB AT 1.000 P= 2.79 |[LPT: TDRS Comm
56: 32 BY =3 Y= 0.00 |DB RT 0.020 Y=345.39 |TDRZ 00: 26-01: 20
oM = 20.00
020/ 16:23: 00 G LAT = 0. OOON
35: 32 M\VR B9/ AUTQO VERN LON = 85. 000E
HOLD (sane) B=-58 ALT = 19323. 0nm
61 G\D TRACK RATE 0.2000|LVLH R= 60.00 |[-ZTDRS
004/ 01:20: 00 M|TGT = 3 P = 90.00 [DB AT 1.000 P=156. 36 |LPT: Range Safety
30: 45 BY =5 Y= 30.00 |DB RT 0.020 Y= 64.33 |Dryden
oM = 270. 00 01:35 - 01:38
020/ 16:59: 00 G LAT = 0. OOON
17:09: 45 M\VR B9/ AUTQO VERN LON = -41.000W/LPT: TDRS Comm
HOLD (sane) B=-58 ALT = 19323. 0nm|TDRE 01: 33-02: 24
62 LVLH TRACK RATE 0.2000|(LVLH R= 0.00 [BIAS -XLV +ZW
004/ 02: 09: 00 M|TGT = 2 P = 161.00 |DB AT 1.000 P=109. 00 |[MEI DEX: Sprite
19: 41 BY =5 Y= 0.00 |[DB RT 0.020 Y= 0.00 |NITE 02:20-02: 48
oM= 0.00
020/ 17:48: 00 G EARTH R 0
58: 41 M\VR B9/ AUTQO VERN P 161
HOLD (sane) B=-58
63 LVLH TRACK RATE 0.2000|LVLH R=330.00 [BIAS -ZLV - XW
004/ 02:50: 00 M|TGT = 2 P = 90.00 [DB AT 1.000 P=180. 00 |LPT: G ound Conm
57: 46 BYy =5 Y = 30.00 [{DB RT 0.020 Y=320. 00 |WLP 03:18 - 03:24
oM = 40.00
020/ 18:29: 00 G EARTH R 30 STARNAV: 1
36: 46 M\VR B9/ AUTQO VERN P 90
HOLD (sane) B=-57
64 LVLH TRACK RATE 0.2000|(LVLH R= 0.00 [BIAS -XLV +ZW
004/ 03:40: 00 M|TGT = 2 P = 161.00 |DB AT 1.000 P=109. 00 |MEI DEX: Sprite
47: 46 BY =5 Y = 0.00 |DB RT 0.020 Y= 0.00 |NITE 03:50-04:18
oM= 0.00
020/ 19:19: 00 G EARTH R 0
26: 46 M\VR B9/ AUTQO VERN P 161
HOLD (sane) B=-57
65 LVLH TRACK RATE 0.2000|LVLH R=330.00 [BIAS -ZLV - XW
004/ 04:25: 00 M|TGT = 2 P = 90.00 [DB AT 1.000 P=180. 00 |LPT: G ound Conm
31: 56 BY =5 Y= 30.00 |DB RT 0.020 Y=340. 00 |M.A 04:53 - 04:59
oM = 20.00
020/ 20:04: 00 G EARTH R 30 STARNAV: 1
10: 55 M\VR B9/ AUTQO VERN P 90
HOLD (sane) B=-57
ALL ORBI TER DATA IN 1-1 107 FLT 03/13:00
MEAN OF 1950 AND PYR EULER SEQUENCE




Attitude Tineli

ne

ORBI TER
MET/ GMI' M\VR OPTI ON DAP E/ S/ B |REF ATT/ REMARKS EVENT
66 LVLH TRACK RATE 0.2000|LVLH R= 0.00 [BIAS -YLV +ZW
004/05:35: 00 M|TGT = 2 P = 90.00 [DB AT 1.000 P=105. 69 |[SOLSE: Linb view
44: 58 BY =5 Y = 285.69 |DB RT 0.020 Y=270. 00
oM = 90.00 TR 05: 56: 40
020/ 21: 14: 00 EARTH R 286
23:58 M\VR B9/ AUTQO VERN P 90
HOLD A10/ AUTQ VERN B=-57
67 LVLH TRACK RATE 0.0100(LVLH R= 0.00 [BIAS -YLV +ZW
004/ 06:12: 00 M|TGT = 2 P = 90.00 [DB AT 0.100 P=105.93 |SOLSE: Linmb view
24 BY =5 Y = 285.93 (DB RT 0.020 Y=270. 00
oM = 90.00
020/ 21:51: 00 EARTH R 286
24 M\VR A10/ AUTQO VERN P 90
HOLD (sane) =-57
68 LVLH TRACK RATE 0.0100|(LVLH R= 0.00 [BIAS -YLV +ZW
004/ 06:32: 00 M|TGT = 2 P = 90.00 (DB AT 0.100 P=106. 18 |[SOLSE: Linb view
25 BY =5 Y = 286.18 |DB RT 0.020 Y=270. 00
OM = 90. 00 TS 06:41: 42
020/ 22:11: 00 EARTH R 286
25 M\VR A10/ AUTQO VERN P 90
HOLD (sane) B=-57
69 LVLH TRACK RATE 0.0100(LVLH R= 0.00 [BIAS -YLV +ZW
004/ 06:55: 00 M|TGT = 2 P = 90.00 [DB AT 0.100 P=105.69 |SOLSE: Linmb view
49 BY =5 Y = 285.69 [DB RT 0.020 Y=270. 00
oM = 90.00 TR 07: 26: 49
020/ 22: 34: 00 EARTH R 286
49 M\VR A10/ AUTQO VERN P 90
HOLD (sane) B=-57
70 LVLH TRACK RATE 0.0100|(LVLH R= 0.00 [BIAS -YLV +ZW
004/ 07: 42: 00 TGr =2 P = 90.00 |DB AT 0.100 P=105.93 |SOLSE: Linb view
24 BY =5 Y = 285.93 |DB RT 0.020 Y=270. 00
oM = 90.00
020/ 23: 21: 00 EARTH R 286
24 M\VR A10/ AUTQO VERN P 90
HOLD (sane) B=-57
71 LVLH TRACK RATE 0.0100(LVLH R= 0.00 [BIAS -YLV +ZW
004/ 08:00: 00 M|TGT = 2 P = 90.00 [DB AT 0.100 P=106. 12 |SOLSE: Linmb view
19 BY =5 Y = 286.12 (DB RT 0.020 Y=270. 00
oM = 90.00 TS 08:11:52
020/ 23: 39: 00 EARTH R 286
19 M\VR A10/ AUTQO VERN P 90
HOLD (sane) B=-57
72 LVLH TRACK RATE 0.0100|(LVLH R= 0.00 [BIAS -YLV +ZW
004/08:25: 00 M|TGT = 2 P = 90.00 (DB AT 0.100 P=105. 69 |[SOLSE: Linb view
43 BY =5 Y = 285.69 |DB RT 0.020 Y=270. 00
oM = 90.00 TR 08: 56: 59
021/ 00: 04: 00 EARTH R 286
43 M\VR A10/ AUTQO VERN P 90
HOLD (sane) B=-57
ALL ORBI TER DATA IN 1-2 107 FLT 03/13:00

MEAN OF 1950 AND PYR EULER SEQUENCE




